M/REGF/MNIVR) KRBT

t#g:20F25% HEX:136E05%

ER28%E10A1H
Bl Kz = =N JAE B B2 R R TEE KUE
i °C mm 165 1iL m./'s h % hPa
1 28.8 0.0 it 125 0.00 85 1006.9
2 28.8 0.0 it 138 0.00 82 1006.3
3 28.9 0.0 it 142 0.00 83 1006.5
4 25.9 25 ® 9.7 0.00 91 1006.5
5 285 05 B 118 0.00 88 1006.8
6 26.3 05 B 8.6 0.00 86 1007.7
7 26.6 0.0 B 78 0.00 86 1008.4
8 26.5 05 B 5.1 0.00 88 1008.0
9 28.4 0.0 B 12.3 0.00 85 1008.0
10 28.9 0.0 B 118 0.18 83 1007.7
11 28.6 0.0 B 114 057 83 1007.5
12 28.4 0.0 B 115 0.00 85 1007.1
13 28.3 05 B 9.7 0.00 86 1005.7
14 28.3 10 B 11.7 0.00 86 1005.0
15 285 0.0 B 13.0 0.00 86 1005.1
16 28.4 0.0 B 12.8 0.00 86 1005.0
17 28.6 0.0 B 114 0.00 85 1005.1
18 28.1 0.0 B 104 0.00 87 1005.6
19 28.0 15 B 9.2 0.00 90 1005.1
20 28.6 0.0 B 95 0.00 80 1006.2
21 28.4 0.0 B 10.1 0.00 86 1006.3
22 28.6 0.0 B 11.2 0.00 85 1006.2
23 285 0.0 B 10.6 0.00 86 1005.7
24 28.2 0.0 B 10.2 0.00 87 1005.6
HEX 28.9 25 142 91 1008.4
Hi/ 25.9 0.0 5.1 80 1005.0
B 28.1 10.8 86 1006.4
=111 7.0 0.75
BEgAaT—42
SEFEAH °C EfEEHH °C
BEE52 | HI3.65 36.1 BIESE | H202.17 17.7
H$EFEAH hPa H$EFEAH hPa
| RESFE | H53.22 10245 BIESE [ H14.11.24 936.7
HE#EFEHH|] mm/day £EFEFAH mSs
S AERE H10.11.26 2125 BARE | HI79.2 55.2
ATF—A[(%. $63.9.25~H25.12.31 DHIRZ M ZIZLTLVET,




H/EE (T;'F'/I“U‘/-?) S’L%Eﬁ/ﬂ“T_g

t#g:20F25% HEX:136E05%
ER28%E10A2H
FEZ| Kz = =N JEBES H &R TBE KUE
i °C mm 165 1iL m./'s h % hPa
1 278 0.0 = 10.0 0.00 89 1005.6
2 26.4 30 B 10.1 0.00 93 1005.3
3 28.2 0.0 HEm 11.9 0.00 86 1004.2
4 28.8 0.0 HEs 114 0.00 84 1004.2
5 28.6 0.0 HEs 12.7 0.00 85 1005.1
6 28.4 0.0 HEs 12.7 0.00 86 1005.1
7 28.7 0.0 HEs 12.6 0.00 84 1006.0
8 28.0 05 HEs 15.2 0.00 88 1006.8
9 27.3 05 [ 15.6 0.38 87 1006.8
10 285 0.0 HEm 15.3 0.33 85 1007.2
11 28.9 0.0 HEs 141 0.03 86 1006.8
12 28.9 0.0 [ 140 1.00 84 1006.2
13 29.0 0.0 [ 14.6 0.88 85 1006.0
14 295 0.0 [ 15.2 0.97 81 1005.9
15 29.3 0.0 [ 149 1.00 83 1005.6
16 29.4 0.0 HEm 12.9 1.00 84 1005.7
17 28.9 0.0 HEs 13.6 0.38 86 1006.5
18 28.1 0.0 [ 12.3 0.00 90 1007.4
19 285 0.0 [ 13.2 0.00 87 1007.8
20 28.1 0.0 [ 135 0.00 84 1008.6
21 28.0 05 [ 11.1 0.00 89 1009.2
22 28.4 0.0 [ 11.7 0.00 85 1009.5
23 28.3 0.0 [ 118 0.00 85 1009.0
24 285 0.0 HEm 11.1 0.00 88 1008.9
Hmx KX 29.5 30 15.6 93 1009.5
Hi/ 26.4 0.0 10.0 81 1004.2
B 28.4 13.0 86 1006.6
=111 45 597
BEgAaT—42
SEFEAH °C EfEEHH °C
BEE52 | HI3.65 36.1 BIESE | H202.17 17.7
H$EFEAH hPa H$EFEAH hPa
| RESFE | H53.22 10245 BIESE [ H14.11.24 936.7
HE#EFEHH|] mm/day £EFEFAH mSs
S AERE H10.11.26 2125 BARE | HI79.2 55.2
ATF—A[(%. $63.9.25~H25.12.31 DHIRZ M ZIZLTLVET,




M/REGF/MNIVR) KRBT

t#g:20F25% HEX:136E05%

ER28%10A3H
Bl Kz = =N JAE B B2 R R TEE KUE
i °C mm 165 1iL m./'s h % hPa
1 285 0.0 HEm 11.2 0.00 86 1008.3
2 28.3 0.0 B s 10.6 0.00 85 1008.0
3 28.4 0.0 HEs 11.3 0.00 83 1007.8
4 285 0.0 HEs 938 0.00 85 1008.1
5 28.4 0.0 HEs 9.1 0.00 83 1008.0
6 285 0.0 HEs 8.4 0.00 83 1008.1
7 28.7 0.0 HEs 75 0.52 82 1008.6
8 29.2 0.0 HEs 8.0 1.00 81 1009.3
9 29.6 0.0 HEs 6.7 1.00 78 1009.5
10 30.1 0.0 HEs 59 1.00 76 1009.2
11 29.8 0.0 HEs 5.1 1.00 77 1008.9
12 30.2 0.0 HEs 37 1.00 79 1008.3
13 30.6 0.0 HEs 27 1.00 78 1007.2
14 26.5 25 Gk 5.1 0.55 92 1007.1
15 30.3 15 HE® 1.3 0.82 82 1006.6
16 31.0 0.0 B 0.8 1.00 80 1006.8
17 29.2 05 B 27 0.72 84 1006.9
18 29.0 0.0 B 44 0.00 84 1007.2
19 28.7 0.0 B 45 0.00 86 1007.5
20 28.4 0.0 B 48 0.00 87 1008.3
21 285 0.0 B 5.0 0.00 87 1008.7
22 28.8 0.0 HEm 7.0 0.00 84 1008.7
23 28.7 0.0 HEs 6.8 0.00 83 1008.6
24 28.8 0.0 HEs 6.3 0.00 86 1008.6
HEX 31.0 25 11.3 92 1009.5
Hi/ 26.5 0.0 0.8 76 1006.6
H¥E 29.0 6.2 83 1008.1
=111 45 9.61
BEgAaT—42
SEFEAH °C EfEEHH °C
BEE52 | HI3.65 36.1 BIESE | H202.17 17.7
H$EFEAH hPa H$EFEAH hPa
| RESFE | H53.22 10245 BIESE [ H14.11.24 936.7
HE#EFEHH|] mm/day £EFEFAH mSs
S AERE H10.11.26 2125 BARE | HI79.2 55.2
ATF—A[(%. $63.9.25~H25.12.31 DHIRZ M ZIZLTLVET,




M/REGF/MNIVR) KRBT

t#g:20F25% HEX:136E05%

ER28%E10A4H
Bl Kz = =N JAE B B2 R R TEE KUE
i °C mm 165 1iL m./'s h % hPa
1 285 0.0 = 6.5 0.00 84 1008.0
2 28.1 0.0 B 5.4 0.00 87 1007.5
3 28.4 0.0 B 6.2 0.00 88 1007.1
4 28.7 0.0 B 9.1 0.00 85 1006.8
5 28.7 0.0 B 99 0.00 85 1007.4
6 28.0 0.0 B 10.9 0.00 86 1007.5
7 28.4 0.0 B 77 0.82 87 1008.0
8 29.1 0.0 HEm 938 0.97 84 1008.4
9 29.2 0.0 HEs 9.7 1.00 83 1008.7
10 29.2 0.0 HEs 89 1.00 82 1008.6
11 29.4 0.0 HEs 9.1 0.98 82 1008.1
12 29.3 0.0 HEs 10.0 1.00 82 1007.4
13 29.6 0.0 HEs 10.8 1.00 78 1007.1
14 29.7 0.0 HEs 10.0 1.00 80 1006.8
15 295 0.0 HEs 104 1.00 80 1006.5
16 29.3 0.0 HEs 8.4 0.83 83 1006.9
17 29.2 0.0 HEs 94 0.32 83 1007.7
18 29.1 0.0 HEs 10.0 0.00 81 1008.3
19 29.0 0.0 HEs 10.5 0.00 82 1009.3
20 28.9 0.0 B s 9.1 0.00 83 1010.1
21 29.0 0.0 B s 93 0.00 82 1010.1
22 28.8 0.0 HEs 83 0.00 83 1010.2
23 28.8 0.0 HEs 9.1 0.00 81 1010.4
24 28.7 0.0 HEs 8.1 0.00 85 1010.4
HEX 29.7 0.0 10.9 88 1010.4
Hi/ 28.0 0.0 5.4 78 1006.5
H¥E 28.9 9.0 83 1008.2
=111 0.0 9.92
BEgAaT—42
SEFEAH °C EfEEHH °C
BEE52 | HI3.65 36.1 BIESE | H202.17 17.7
H$EFEAH hPa H$EFEAH hPa
| RESFE | H53.22 10245 BIESE [ H14.11.24 936.7
HE#EFEHH|] mm/day £EFEFAH mSs
S AERE H10.11.26 2125 BARE | HI79.2 55.2
ATF—A[(%. $63.9.25~H25.12.31 DHIRZ M ZIZLTLVET,




M/REGF/MNIVR) KRBT

t#g:20F25% HEX:136E05%

ER28%10A5H
FEZ| Kz = =N JEBES H &R TBE KUE
i °C mm 165 1iL m./'s h % hPa
1 28.4 0.0 HEm 6.8 0.00 88 1009.8
2 28.4 0.0 B s 8.4 0.00 84 1009.5
3 278 05 HEs 94 0.00 85 1008.9
4 27.9 05 HEs 6.7 0.00 88 1008.7
5 28.1 0.0 HEs 55 0.00 87 1008.9
6 28.4 0.0 B 72 0.00 82 1009.8
7 28.8 0.0 B 8.0 0.65 80 1010.4
8 275 0.0 HEm 96 0.70 82 1011.0
9 28.1 0.0 = 75 0.35 74 1011.3
10 26.8 0.0 HEm 104 1.00 83 1011.3
11 295 0.0 = 5.7 1.00 72 1010.5
12 28.9 0.0 B 42 1.00 78 1010.4
13 278 0.0 B 5.1 0.62 83 1009.5
14 29.1 0.0 B 8.0 1.00 76 1009.2
15 274 0.0 B 8.6 0.15 86 1009.0
16 278 0.0 B 7.0 0.00 86 1009.2
17 26.6 0.0 B 11.1 0.00 90 1009.5
18 274 0.0 B 8.4 0.00 88 1009.8
19 27.3 0.0 B 8.2 0.00 89 1010.4
20 26.8 0.0 HEm 10.0 0.00 92 1010.7
21 27.2 40 B s 6.5 0.00 93 1011.3
22 28.2 0.0 HEs 74 0.00 86 1011.6
23 28.4 0.0 HEs 59 0.00 78 1011.6
24 28.3 0.0 HEs 5.4 0.00 82 1011.4
HEX 29.5 40 11.1 93 1011.6
Hi/ 26.6 0.0 42 72 1008.7
H¥EH 28.0 75 84 1010.2
=111 5.0 6.47
BEgAaT—42
SEFEAH °C EfEEHH °C
BEE52 | HI3.65 36.1 BIESE | H202.17 17.7
H$EFEAH hPa H$EFEAH hPa
| RESFE | H53.22 10245 BIESE [ H14.11.24 936.7
HE#EFEHH|] mm/day £EFEFAH mSs
S AERE H10.11.26 2125 BARE | HI79.2 55.2
ATF—A[(%. $63.9.25~H25.12.31 DHIRZ M ZIZLTLVET,




M/REGF/MNIVR) KRBT

t#g:20F25% HEX:136E05%

ER28%10A6H
FEZ| b = =N JEBES H &R TBE [T
i °C mm 165 1iL m./'s h % hPa
1 28.1 0.0 HEm 53 0.00 84 1011.3
2 27.9 0.0 B s 5.0 0.00 83 1011.0
3 28.0 0.0 HEs 47 0.00 79 1011.1
4 28.0 0.0 HEs 36 0.00 81 1011.0
5 28.0 0.0 1 3.6 0.00 83 1011.3
6 28.0 0.0 1 38 0.00 83 1011.4
7 28.3 0.0 B 45 0.32 82 1011.9
8 27.0 0.0 B 48 0.25 86 1012.5
9 28.3 0.0 B 44 0.88 81 1012.6
10 275 55 miLE 27 0.85 88 1012.3
11 29.6 0.0 = 5.6 1.00 76 1012.0
12 30.2 0.0 B 5.7 1.00 72 1011.6
13 30.4 0.0 B 49 1.00 71 1011.3
14 30.4 0.0 B 55 1.00 72 1011.0
15 30.4 0.0 B 6.2 1.00 70 1011.1
16 30.3 0.0 B 5.2 1.00 72 1011.6
17 29.4 0.0 B 5.7 0.83 76 1011.9
18 28.6 0.0 B 55 0.17 77 1012.2
19 28.6 0.0 B 55 0.00 79 1012.8
20 28.6 0.0 B 5.7 0.00 80 1013.2
21 285 0.0 5.7 0.00 80 1013.5
22 28.4 0.0 JtE= 6.6 0.00 80 1013.5
23 28.4 0.0 it 6.9 0.00 82 1013.1
24 28.2 0.0 JtE= 75 0.00 81 1012.8
Hmx KX 30.4 55 15 88 1013.5
Hax/I 27.0 0.0 27 70 1011.0
H¥E15 28.7 52 79 1012.0
=111 5.5 9.30
BEgAaT—42
SEFEAH °C SEFEAH °C
SE5E [ HI365 36.1 BIESE | H202.17 17.7
H$EFEAH hPa H$EFEAH hPa
| RESFE | H53.22 10245 BIESE [ H14.11.24 936.7
HE#EFEHH|] mm/day £EFEFAH mSs
S AERE H10.11.26 2125 BARE | HI79.2 55.2
ATF—A[(%. $63.9.25~H25.12.31 DHIRZ M ZIZLTLVET,




M/REGF/MNIVR) KRBT

t#g:20F25% HEX:136E05%

ER28%E10A7H
Bl Kz = =N JAE B B2 R R TEE KUE
i °C mm 165 1iL m./'s h % hPa
1 28.2 0.0 = 7.7 0.00 81 1012.5
2 28.1 0.0 B 8.0 0.00 78 1011.9
3 28.0 0.0 B 7.2 0.00 78 1011.9
4 28.1 0.0 B 8.0 0.00 77 1011.7
5 28.2 0.0 B 8.1 0.00 77 1012.0
6 28.1 0.0 B 79 0.00 77 1012.3
7 28.6 0.0 B 8.2 0.78 75 1012.8
8 28.9 0.0 B 8.1 0.97 76 1012.9
9 29.3 0.0 B 78 1.00 73 1013.4
10 29.7 0.0 B 78 1.00 70 1013.4
11 29.8 0.0 B 77 1.00 74 1012.8
12 30.2 0.0 B 6.6 1.00 73 1012.2
13 30.5 0.0 B 74 1.00 72 1011.6
14 30.3 0.0 B 8.1 1.00 72 1011.3
15 30.3 0.0 B 8.1 1.00 73 1011.1
16 29.7 0.0 B 85 0.82 78 1011.3
17 29.2 0.0 B 8.7 0.70 78 1011.4
18 29.0 0.0 B 76 0.00 77 1011.7
19 28.7 0.0 B 79 0.00 82 1012.2
20 285 0.0 B 8.7 0.00 81 1012.6
21 285 0.0 B 85 0.00 81 1012.8
22 285 0.0 B 838 0.00 83 1012.8
23 28.2 0.0 miLE 79 0.00 86 1012.8
24 285 0.0 ® 8.4 0.00 82 1012.8
HEX 30.5 0.0 838 86 1013.4
Hi/ 28.0 0.0 6.6 70 1011.1
H¥1y 29.0 8.0 77 1012.3
=111 0.0 10.27
BEgAaT—42
SEFEAH °C EfEEHH °C
BEE52 | HI3.65 36.1 BIESE | H202.17 17.7
H$EFEAH hPa H$EFEAH hPa
| RESFE | H53.22 10245 BIESE [ H14.11.24 936.7
HE#EFEHH|] mm/day £EFEFAH mSs
S AERE H10.11.26 2125 BARE | HI79.2 55.2
ATF—A[(%. $63.9.25~H25.12.31 DHIRZ M ZIZLTLVET,




M/REGF/MNIVR) KRBT

t#g:20F25% HEX:136E05%

ERL28%10A8H
Bl Kz = =N JAE B B2 R R TEE KUE
i °C mm 165 1iL m./'s h % hPa
1 285 0.0 = 8.6 0.00 84 1012.5
2 28.4 0.0 B 8.6 0.00 80 1012.3
3 278 0.0 B 7.1 0.00 82 1012.0
4 278 0.0 B 7.1 0.00 86 1011.9
5 28.2 0.0 B 7.0 0.00 83 1012.0
6 28.2 0.0 B 58 0.00 81 1012.5
7 28.3 0.0 B 7.2 0.37 81 1012.8
8 29.1 0.0 B 5.7 1.00 78 1013.4
9 29.1 0.0 B 6.0 1.00 75 1013.4
10 29.3 0.0 B 5.7 1.00 75 1013.1
11 29.6 0.0 B 6.3 1.00 75 1012.6
12 29.9 0.0 B 6.0 1.00 75 1011.6
13 30.3 0.0 B 6.0 1.00 73 1011.0
14 29.7 0.0 B 59 1.00 76 1010.5
15 29.4 0.0 B 6.9 0.98 78 1010.1
16 29.7 0.0 B 53 1.00 75 1010.1
17 29.2 0.0 B 6.3 1.00 78 1010.1
18 28.6 0.0 B 53 0.17 81 1010.4
19 28.6 0.0 B 5.6 0.00 83 1010.7
20 28.6 0.0 B 6.4 0.00 81 1011.3
21 285 0.0 B 6.4 0.00 81 1011.6
22 28.6 0.0 B 5.7 0.00 78 1011.6
23 28.4 0.0 B 6.4 0.00 79 1011.6
24 28.3 0.0 B 59 0.00 78 1011.0
HEX 30.3 0.0 8.6 86 1013.4
B/ 27.8 0.0 53 73 1010.1
B 28.8 6.4 79 1011.7
=111 0.0 10.52
BEgAaT—42
SEFEAH °C EfEEHH °C
BEE52 | HI3.65 36.1 BIESE | H202.17 17.7
H$EFEAH hPa H$EFEAH hPa
| RESFE | H53.22 10245 BIESE [ H14.11.24 936.7
HE#EFEHH|] mm/day £EFEFAH mSs
S AERE H10.11.26 2125 BARE | HI79.2 55.2
ATF—A[(%. $63.9.25~H25.12.31 DHIRZ M ZIZLTLVET,




M/REGF/MNIVR) KRBT

t#g:20F25% HEX:136E05%

ER28%10A9H
FEZ| Kz = =N JEBES H &R TBE KUE
i °C mm 165 1iL m./'s h % hPa
1 28.3 0.0 = 5.6 0.00 78 1010.7
2 28.1 0.0 B 36 0.00 82 1010.7
3 28.1 0.0 B 5.6 0.00 81 1010.4
4 27.9 0.0 B 53 0.00 82 1010.2
5 27.9 0.0 B 46 0.00 80 1010.2
6 27.9 0.0 B 5.1 0.00 78 1010.4
7 28.2 0.0 B 49 0.55 78 1010.7
8 28.8 0.0 B 47 1.00 74 1011.3
9 29.4 0.0 B 44 1.00 71 1011.1
10 295 0.0 B 5.0 0.88 70 1011.0
11 28.9 0.0 miLE 46 1.00 75 1010.4
12 28.8 0.0 Bl&: 46 1.00 76 1009.6
13 30.2 0.0 it 43 1.00 67 1008.9
14 30.5 0.0 it 49 1.00 67 1008.6
15 29.1 0.0 L= 5.1 1.00 74 1008.4
16 29.1 0.0 it 49 0.93 73 1008.6
17 285 0.0 Bl&: 6.8 057 77 1009.0
18 285 0.0 it 6.4 0.27 79 1009.2
19 28.4 0.0 it 6.9 0.00 79 1009.5
20 285 0.0 it 6.6 0.00 81 1010.1
21 28.4 0.0 it 8.1 0.00 78 1010.4
22 28.3 0.0 it 77 0.00 80 1010.1
23 28.4 0.0 it 77 0.00 77 1010.2
24 28.2 0.0 it 6.6 0.00 80 1009.9
HEX 30.5 0.0 8.1 82 1011.3
Hi/ 27.9 0.0 36 67 1008.4
H¥EH 28.7 5.6 77 1010.0
=111 0.0 10.20
BEgAaT—42
SEFEAH °C EfEEHH °C
BEE52 | HI3.65 36.1 BIESE | H202.17 17.7
H$EFEAH hPa H$EFEAH hPa
| RESFE | H53.22 10245 BIESE [ H14.11.24 936.7
HE#EFEHH|] mm/day £EFEFAH mSs
S AERE H10.11.26 2125 BARE | HI79.2 55.2
ATF—A[(%. $63.9.25~H25.12.31 DHIRZ M ZIZLTLVET,




M/REGF/MNIVR) KRBT

t#g:20F25% HEX:136E05%

R 284E10A 10H
FFZl um M= J& ] JEE H ERRFRE i KUt
i3 °C mm 1651 m./'s h % hPa
1 28.1 0.0 it 6.3 0.00 78 1009.2
2 28.2 0.0 it 6.6 0.00 77 1008.7
3 27.9 0.0 dt 49 0.00 82 1008.6
4 27.8 0.0 dt 54 0.00 79 1008.3
5 27.8 0.0 #=ik 5.6 0.00 77 1008.3
6 28.0 0.0 dt 54 0.00 78 1008.6
7 27.9 0.0 it 59 0.62 77 1008.9
8 28.2 0.0 JtE 5.6 0.97 75 1009.3
9 28.5 0.0 Jedt 5.6 0.97 76 1009.9
10 28.7 0.0 Jedt 6.2 1.00 75 1009.6
11 28.7 0.0 JtE 6.2 0.97 73 1009.5
12 29.1 0.0 Jbde 5.8 1.00 73 1008.7
13 28.7 0.0 dt 5.7 1.00 75 1008.0
14 28.7 0.0 dt 5.8 1.00 72 1007.4
15 28.6 0.0 it 6.3 1.00 75 1007.2
16 28.5 0.0 HikE 6.6 1.00 77 1007.4
17 kokok koK Kook *kkok koK *okok koK
18 *okok *okok Kook *kkok *okok *okok koK
19 koK koK Kook *kkok koK *okok koK
20 KKk *okok *okok KKk KoKk kK *okok
21 KKk *okok *okok KKk KoKk kK *okok
22 KKk *okok *okok KoKk KoKk kK *okok
23 *okok *okok Kook *kkok *okok *okok koK
24 KKk *okok *okok KoKk KoKk kK *okok
Hmx KX 29.1 0.0 6.6 82 1009.9
Hex/ 27.8 0.0 49 72 1007.2
H¥E15 28.3 59 76 1008.6
aat 0.0 953
BEgAaT—42 MDE * * *
H$EFEAH °C HEFEAH °C
= "‘@’,—r_‘,;’ﬂ H13.6.5 36.1 brd 15;—:155'1 H20.2.17 17.7
£EFHH hPa £EFHH hPa
i‘?‘,&j"ﬁ& H5.3.22 1024.5 bd j&;—ﬁE H14.11.24 936.7
FEEHH] mm/day $EFEHAH m/s
A HME H10.11.26 212.5 4 KELE H17.9.2 55.2
AT—AIL, $63.9.25~H25.12.31 DEAREIE A RIZLTLET ,




M/REGF/MNIVR) KRBT

t#g:20F25% HEX:136E05%

R 284E10A11H
FFZl um M= J& ] JEE H ERRFRE i KUt
i °Cc mm 1651 m/’s h % hPa
1 kokok *okok * % % *kkok *okok *okok koK
2 kokok koK * % % *kkok *okok koK koK
3 *okok *okok * % % *kkok *okok *okok koK
4 kokok koK * % % *kkok koK koK koK
5 *okok *okok * % % *kkok *okok *okok koK
6 *okok *okok * % % *kkok koK koK koK
7 kokok *okok * % % *kkok *okok *okok koK
8 *okok *okok * % % *kkok koK koK koK
9 *okok *okok * % % *kkok *okok *okok koK
10 KKk KKk * * % KKk KKk KoKk KoKk
11 KKk KKk * * % KoKk KoKk kK KoKk
12 KKk KKk * * % KKk KKk KoKk *okok
13 *okok *okok * % % *kkok *okok koK koK
14 KKk KKk * * % KKk KKk kK *okok
15 *okok *okok * % % *kkok koK *okok koK
16 *okok *okok * % % *kkok *okok *okok koK
17 kokok koK * % % *kkok koK *okok koK
18 *okok *okok * % % *kkok *okok *okok koK
19 koK koK * % % *kkok koK *okok koK
20 KKk KKk * * % KKk KoKk kK *okok
21 KKk KKk * * % KKk KoKk kK *okok
22 KKk KKk * * % KoKk KoKk kK *okok
23 *okok *okok * % % *kkok *okok *okok koK
24 KKk KKk * * % KoKk KoKk kK *okok
HzX 0.0 0.0 0.0 0 0.0
Hex/ 0.0 0.0 0.0 0 0.0
H¥EH Kook Kook Kook Kook
aat 0.0 0.00
BEgAaT—42 MDE * * *
H$EFEAH °C HEFEAH °C
= "‘@’,—r_‘,;’ﬂ H13.6.5 36.1 brd jB_{,;—:‘\;E H20.2.17 17.7
£EFHH hPa £EFHH hPa
i‘@‘ﬁ& H5.3.22 1024.5 bd jB_{,;—ﬁE H14.11.24 936.7
FEEHH] mm/day $EFEHAH m/s
A HME H10.11.26 212.5 4 KELE H17.9.2 55.2
AT—AIL, $63.9.25~H25.12.31 DEAREIE A RIZLTLET ,




M/REGF/MNIVR) KRBT

t#g:20F25% HEX:136E05%

FR284 107128

FFZl um M= J& ] JEE H ERRFRE i KUt
i3 °C mm 1651 m./'s h % hPa
1 kokok *okok * % % *kkok *kkok *okok koK
2 kokok koK * % % *kkok *kkok koK koK
3 *okok *okok * % % *kkok *kkok *okok koK
4 kokok koK * % % *kkok *kkk koK koK
5 *okok *okok * % % *kkok *kkok *okok koK
6 *okok *okok * % % *kkok *kkk koK koK
7 kokok *okok * % % *kkok *kkok *okok koK
8 *okok *okok * % % *kkok *kkok koK koK
9 *okok *okok * % % *kkok *kkok *okok koK
10 KKk KKk * * % KKk KKk KoKk KoKk
11 KKk KKk * * % KoKk KoKk kK KoKk
12 KKk KKk * * % KKk KKk KoKk *okok
13 *okok *okok * % % *kkok *kkok koK koK
14 KKk KKk * * % KKk KKk kK *okok
15 *okok *okok * % % *kkok *kkok *okok koK
16 *okok *okok * % % *kkok *kkok *okok koK
17 kokok koK * % % *kkok *kkok *okok koK
18 *okok *okok * % % *kkok *kkok *okok koK
19 koK koK * % % *kkok *kkok *okok koK
20 KKk KKk * * % KKk KoKk kK *okok
21 KKk KKk * * % KKk KoKk kK *okok
22 KKk KKk * * % KoKk KoKk kK *okok
23 *okok *okok * % % *kkok *kkok *okok koK
24 KKk KKk * * % KoKk KoKk kK *okok
HzX 0.0 0.0 0.0 0 0.0
Hex/ 0.0 0.0 0.0 0 0.0
H¥EH Kook Kook Kook Kook
aat 0.0 0.00
BEgAaT—42 MDE * * *
H$EFEAH °C HEFEAH °C
= "‘@’,—r_‘,;’ﬂ H13.6.5 36.1 brd j&;—ﬁjﬁi H20.2.17 17.7
£EFHH hPa £EFHH hPa
i‘@‘ﬁ& H5.3.22 1024.5 = j&;—ﬁE H14.11.24 936.7
FEEHH] mm/day $EFEHAH m/s
A HME H10.11.26 212.5 = KELE H17.9.2 55.2
AT—AIL, $63.9.25~H25.12.31 DEAREIE A RIZLTLET ,




M/REGF/MNIVR) KRBT

t#g:20F25% HEX:136E05%

284107138

FFZl um M= J& ] JEE H ERRFRE i KUt
i3 °C mm 1651 m./'s h % hPa
1 kokok *okok * % % *kkok *kkok *okok koK
2 kokok koK * % % *kkok *kkok koK koK
3 *okok *okok * % % *kkok *kkok *okok koK
4 kokok koK * % % *kkok *kkk koK koK
5 *okok *okok * % % *kkok *kkok *okok koK
6 *okok *okok * % % *kkok *kkk koK koK
7 kokok *okok * % % *kkok *kkok *okok koK
8 *okok *okok * % % *kkok *kkok koK koK
9 *okok *okok * % % *kkok *kkok *okok koK
10 KKk KKk * * % KKk KKk KoKk KoKk
11 KKk KKk * * % KoKk KoKk kK KoKk
12 KKk KKk * * % KKk KKk KoKk *okok
13 *okok *okok * % % *kkok *kkok koK koK
14 KKk KKk * * % KKk KKk kK *okok
15 *okok *okok * % % *kkok *kkok *okok koK
16 *okok *okok * % % *kkok *kkok *okok koK
17 kokok koK * % % *kkok *kkok *okok koK
18 *okok *okok * % % *kkok *kkok *okok koK
19 koK koK * % % *kkok *kkok *okok koK
20 KKk KKk * * % KKk KoKk kK *okok
21 KKk KKk * * % KKk KoKk kK *okok
22 KKk KKk * * % KoKk KoKk kK *okok
23 *okok *okok * % % *kkok *kkok *okok koK
24 KKk KKk * * % KoKk KoKk kK *okok
HzX 0.0 0.0 0.0 0 0.0
Hex/ 0.0 0.0 0.0 0 0.0
H¥EH Kook Kook Kook Kook
aat 0.0 0.00
BEgAaT—42 MDE * * *
H$EFEAH °C HEFEAH °C
= "‘@’,—r_‘,;’ﬂ H13.6.5 36.1 brd j&;—ﬁjﬁi H20.2.17 17.7
£EFHH hPa £EFHH hPa
i‘@‘ﬁ& H5.3.22 1024.5 = j&;—ﬁE H14.11.24 936.7
FEEHH] mm/day $EFEHAH m/s
A HME H10.11.26 212.5 = KELE H17.9.2 55.2
AT—AIL, $63.9.25~H25.12.31 DEAREIE A RIZLTLET ,




M/REGF/MNIVR) KRBT

t#g:20F25% HEX:136E05%

FR285 107148

FFZl um M= J& ] JEE H ERRFRE i KUt
i3 °C mm 1651 m./'s h % hPa
1 kokok *okok * % % *kkok *kkok *okok koK
2 kokok koK * % % *kkok *kkok koK koK
3 *okok *okok * % % *kkok *kkok *okok koK
4 kokok koK * % % *kkok *kkk koK koK
5 *okok *okok * % % *kkok *kkok *okok koK
6 *okok *okok * % % *kkok *kkk koK koK
7 kokok *okok * % % *kkok *kkok *okok koK
8 *okok *okok * % % *kkok *kkok koK koK
9 *okok *okok * % % *kkok *kkok *okok koK
10 KKk KKk * * % KKk KKk KoKk KoKk
11 KKk KKk * * % KoKk KoKk kK KoKk
12 KKk KKk * * % KKk KKk KoKk *okok
13 *okok *okok * % % *kkok *kkok koK koK
14 KKk KKk * * % KKk KKk kK *okok
15 *okok *okok * % % *kkok *kkok *okok koK
16 *okok *okok * % % *kkok *kkok *okok koK
17 kokok koK * % % *kkok *kkok *okok koK
18 *okok *okok * % % *kkok *kkok *okok koK
19 koK koK * % % *kkok *kkok *okok koK
20 KKk KKk * * % KKk KoKk kK *okok
21 KKk KKk * * % KKk KoKk kK *okok
22 KKk KKk * * % KoKk KoKk kK *okok
23 *okok *okok * % % *kkok *kkok *okok koK
24 KKk KKk * * % KoKk KoKk kK *okok
HzX 0.0 0.0 0.0 0 0.0
Hex/ 0.0 0.0 0.0 0 0.0
H¥EH Kook Kook Kook Kook
aat 0.0 0.00
BEgAaT—42 MDE * * *
H$EFEAH °C HEFEAH °C
= "‘@’,—r_‘,;’ﬂ H13.6.5 36.1 brd j&;—ﬁjﬁi H20.2.17 17.7
£EFHH hPa £EFHH hPa
i‘@‘ﬁ& H5.3.22 1024.5 = j&;—ﬁE H14.11.24 936.7
FEEHH] mm/day $EFEHAH m/s
A HME H10.11.26 212.5 = KELE H17.9.2 55.2
AT—AIL, $63.9.25~H25.12.31 DEAREIE A RIZLTLET ,




M/REGF/MNIVR) KRBT

t#g:20F25% HEX:136E05%

284104158

FFZl um M= J& ] JEE H ERRFRE i KUt
i3 °C mm 1651 m./'s h % hPa
1 kokok *okok * % % *kkok *kkok *okok koK
2 kokok koK * % % *kkok *kkok koK koK
3 *okok *okok * % % *kkok *kkok *okok koK
4 kokok koK * % % *kkok *kkk koK koK
5 *okok *okok * % % *kkok *kkok *okok koK
6 *okok *okok * % % *kkok *kkk koK koK
7 kokok *okok * % % *kkok *kkok *okok koK
8 *okok *okok * % % *kkok *kkok koK koK
9 *okok *okok * % % *kkok *kkok *okok koK
10 KKk KKk * * % KKk KKk KoKk KoKk
11 KKk KKk * * % KoKk KoKk kK KoKk
12 KKk KKk * * % KKk KKk KoKk *okok
13 *okok *okok * % % *kkok *kkok koK koK
14 KKk KKk * * % KKk KKk kK *okok
15 *okok *okok * % % *kkok *kkok *okok koK
16 *okok *okok * % % *kkok *kkok *okok koK
17 kokok koK * % % *kkok *kkok *okok koK
18 *okok *okok * % % *kkok *kkok *okok koK
19 koK koK * % % *kkok *kkok *okok koK
20 KKk KKk * * % KKk KoKk kK *okok
21 KKk KKk * * % KKk KoKk kK *okok
22 KKk KKk * * % KoKk KoKk kK *okok
23 *okok *okok * % % *kkok *kkok *okok koK
24 KKk KKk * * % KoKk KoKk kK *okok
HzX 0.0 0.0 0.0 0 0.0
Hex/ 0.0 0.0 0.0 0 0.0
H¥EH Kook Kook Kook Kook
aat 0.0 0.00
BEgAaT—42 MDE * * *
H$EFEAH °C HEFEAH °C
= "‘@’,—r_‘,;’ﬂ H13.6.5 36.1 brd j&;—ﬁjﬁi H20.2.17 17.7
£EFHH hPa £EFHH hPa
i‘@‘ﬁ& H5.3.22 1024.5 = j&;—ﬁE H14.11.24 936.7
FEEHH] mm/day $EFEHAH m/s
A HME H10.11.26 212.5 = KELE H17.9.2 55.2
AT—AIL, $63.9.25~H25.12.31 DEAREIE A RIZLTLET ,




M/REGF/MNIVR) KRBT

t#g:20F25% HEX:136E05%

284107168

FFZl um M= J& ] JEE H ERRFRE i KUt
i3 °C mm 1651 m./'s h % hPa
1 kokok *okok * % % *kkok *kkok *okok koK
2 kokok koK * % % *kkok *kkok koK koK
3 *okok *okok * % % *kkok *kkok *okok koK
4 kokok koK * % % *kkok *kkk koK koK
5 *okok *okok * % % *kkok *kkok *okok koK
6 *okok *okok * % % *kkok *kkk koK koK
7 kokok *okok * % % *kkok *kkok *okok koK
8 *okok *okok * % % *kkok *kkok koK koK
9 *okok *okok * % % *kkok *kkok *okok koK
10 KKk KKk * * % KKk KKk KoKk KoKk
11 KKk KKk * * % KoKk KoKk kK KoKk
12 KKk KKk * * % KKk KKk KoKk *okok
13 *okok *okok * % % *kkok *kkok koK koK
14 KKk KKk * * % KKk KKk kK *okok
15 *okok *okok * % % *kkok *kkok *okok koK
16 *okok *okok * % % *kkok *kkok *okok koK
17 kokok koK * % % *kkok *kkok *okok koK
18 *okok *okok * % % *kkok *kkok *okok koK
19 koK koK * % % *kkok *kkok *okok koK
20 KKk KKk * * % KKk KoKk kK *okok
21 KKk KKk * * % KKk KoKk kK *okok
22 KKk KKk * * % KoKk KoKk kK *okok
23 *okok *okok * % % *kkok *kkok *okok koK
24 KKk KKk * * % KoKk KoKk kK *okok
HzX 0.0 0.0 0.0 0 0.0
Hex/ 0.0 0.0 0.0 0 0.0
H¥EH Kook Kook Kook Kook
aat 0.0 0.00
BEgAaT—42 MDE * * *
H$EFEAH °C HEFEAH °C
= "‘@’,—r_‘,;’ﬂ H13.6.5 36.1 brd j&;—ﬁjﬁi H20.2.17 17.7
£EFHH hPa £EFHH hPa
i‘@‘ﬁ& H5.3.22 1024.5 = j&;—ﬁE H14.11.24 936.7
FEEHH] mm/day $EFEHAH m/s
A HME H10.11.26 212.5 = KELE H17.9.2 55.2
AT—AIL, $63.9.25~H25.12.31 DEAREIE A RIZLTLET ,




M/REGF/MNIVR) KRBT

t#g:20F25% HEX:136E05%

285108178

FFZl um M= J& ] JEE H ERRFRE i KUt
i3 °C mm 1651 m./'s h % hPa
1 kokok *okok * % % *kkok *kkok *okok koK
2 kokok koK * % % *kkok *kkok koK koK
3 *okok *okok * % % *kkok *kkok *okok koK
4 kokok koK * % % *kkok *kkk koK koK
5 *okok *okok * % % *kkok *kkok *okok koK
6 *okok *okok * % % *kkok *kkk koK koK
7 kokok *okok * % % *kkok *kkok *okok koK
8 *okok *okok * % % *kkok *kkok koK koK
9 *okok *okok * % % *kkok *kkok *okok koK
10 KKk KKk * * % KKk KKk KoKk KoKk
11 KKk KKk * * % KoKk KoKk kK KoKk
12 KKk KKk * * % KKk KKk KoKk *okok
13 *okok *okok * % % *kkok *kkok koK koK
14 KKk KKk * * % KKk KKk kK *okok
15 *okok *okok * % % *kkok *kkok *okok koK
16 *okok *okok * % % *kkok *kkok *okok koK
17 kokok koK * % % *kkok *kkok *okok koK
18 *okok *okok * % % *kkok *kkok *okok koK
19 koK koK * % % *kkok *kkok *okok koK
20 KKk KKk * * % KKk KoKk kK *okok
21 KKk KKk * * % KKk KoKk kK *okok
22 KKk KKk * * % KoKk KoKk kK *okok
23 *okok *okok * % % *kkok *kkok *okok koK
24 KKk KKk * * % KoKk KoKk kK *okok
HzX 0.0 0.0 0.0 0 0.0
Hex/ 0.0 0.0 0.0 0 0.0
H¥EH Kook Kook Kook Kook
aat 0.0 0.00
BEgAaT—42 MDE * * *
H$EFEAH °C HEFEAH °C
= "‘@’,—r_‘,;’ﬂ H13.6.5 36.1 brd j&;—ﬁjﬁi H20.2.17 17.7
£EFHH hPa £EFHH hPa
i‘@‘ﬁ& H5.3.22 1024.5 = j&;—ﬁE H14.11.24 936.7
FEEHH] mm/day $EFEHAH m/s
A HME H10.11.26 212.5 = KELE H17.9.2 55.2
AT—AIL, $63.9.25~H25.12.31 DEAREIE A RIZLTLET ,




M/REGF/MNIVR) KRBT

t#g:20F25% HEX:136E05%

284107188

FFZl um M= J& ] JEE H ERRFRE i KUt
i3 °C mm 1651 m./'s h % hPa
1 kokok *okok * % % *kkok *kkok *okok koK
2 kokok koK * % % *kkok *kkok koK koK
3 *okok *okok * % % *kkok *kkok *okok koK
4 kokok koK * % % *kkok *kkk koK koK
5 *okok *okok * % % *kkok *kkok *okok koK
6 *okok *okok * % % *kkok *kkk koK koK
7 kokok *okok * % % *kkok *kkok *okok koK
8 *okok *okok * % % *kkok *kkok koK koK
9 *okok *okok * % % *kkok *kkok *okok koK
10 KKk KKk * * % KKk KKk KoKk KoKk
11 KKk KKk * * % KoKk KoKk kK KoKk
12 KKk KKk * * % KKk KKk KoKk *okok
13 *okok *okok * % % *kkok *kkok koK koK
14 KKk KKk * * % KKk KKk kK *okok
15 *okok *okok * % % *kkok *kkok *okok koK
16 *okok *okok * % % *kkok *kkok *okok koK
17 kokok koK * % % *kkok *kkok *okok koK
18 *okok *okok * % % *kkok *kkok *okok koK
19 koK koK * % % *kkok *kkok *okok koK
20 KKk KKk * * % KKk KoKk kK *okok
21 KKk KKk * * % KKk KoKk kK *okok
22 KKk KKk * * % KoKk KoKk kK *okok
23 *okok *okok * % % *kkok *kkok *okok koK
24 KKk KKk * * % KoKk KoKk kK *okok
HzX 0.0 0.0 0.0 0 0.0
Hex/ 0.0 0.0 0.0 0 0.0
H¥EH Kook Kook Kook Kook
aat 0.0 0.00
BEgAaT—42 MDE * * *
H$EFEAH °C HEFEAH °C
= "‘@’,—r_‘,;’ﬂ H13.6.5 36.1 brd j&;—ﬁjﬁi H20.2.17 17.7
£EFHH hPa £EFHH hPa
i‘@‘ﬁ& H5.3.22 1024.5 = j&;—ﬁE H14.11.24 936.7
FEEHH] mm/day $EFEHAH m/s
A HME H10.11.26 212.5 = KELE H17.9.2 55.2
AT—AIL, $63.9.25~H25.12.31 DEAREIE A RIZLTLET ,




M/REGF/MNIVR) KRBT

t#g:20F25% HEX:136E05%

285 10A198

FFZl um M= J& ] JEE H ERRFRE i KUt
i3 °C mm 1651 m./'s h % hPa
1 kokok *okok * % % *kkok *kkok *okok koK
2 kokok koK * % % *kkok *kkok koK koK
3 *okok *okok * % % *kkok *kkok *okok koK
4 kokok koK * % % *kkok *kkk koK koK
5 *okok *okok * % % *kkok *kkok *okok koK
6 *okok *okok * % % *kkok *kkk koK koK
7 kokok *okok * % % *kkok *kkok *okok koK
8 *okok *okok * % % *kkok *kkok koK koK
9 *okok *okok * % % *kkok *kkok *okok koK
10 KKk KKk * * % KKk KKk KoKk KoKk
11 KKk KKk * * % KoKk KoKk kK KoKk
12 KKk KKk * * % KKk KKk KoKk *okok
13 *okok *okok * % % *kkok *kkok koK koK
14 KKk KKk * * % KKk KKk kK *okok
15 *okok *okok * % % *kkok *kkok *okok koK
16 *okok *okok * % % *kkok *kkok *okok koK
17 kokok koK * % % *kkok *kkok *okok koK
18 *okok *okok * % % *kkok *kkok *okok koK
19 koK koK * % % *kkok *kkok *okok koK
20 KKk KKk * * % KKk KoKk kK *okok
21 KKk KKk * * % KKk KoKk kK *okok
22 KKk KKk * * % KoKk KoKk kK *okok
23 *okok *okok * % % *kkok *kkok *okok koK
24 KKk KKk * * % KoKk KoKk kK *okok
HzX 0.0 0.0 0.0 0 0.0
Hex/ 0.0 0.0 0.0 0 0.0
H¥EH Kook Kook Kook Kook
aat 0.0 0.00
BEgAaT—42 MDE * * *
H$EFEAH °C HEFEAH °C
= "‘@’,—r_‘,;’ﬂ H13.6.5 36.1 brd j&;—ﬁjﬁi H20.2.17 17.7
£EFHH hPa £EFHH hPa
i‘@‘ﬁ& H5.3.22 1024.5 = j&;—ﬁE H14.11.24 936.7
FEEHH] mm/day $EFEHAH m/s
A HME H10.11.26 212.5 = KELE H17.9.2 55.2
AT—AIL, $63.9.25~H25.12.31 DEAREIE A RIZLTLET ,




M/REGF/MNIVR) KRBT

t#g:20F25% HEX:136E05%

S RE 28410 20H
FFZl um M= J& ] JEE H ERRFRE i KUt
i °Cc mm 1651 m/’s h % hPa
1 kokok *okok * % % *kkok *okok *okok koK
2 kokok koK * % % *kkok *okok koK koK
3 *okok *okok * % % *kkok *okok *okok koK
4 kokok koK * % % *kkok koK koK koK
5 *okok *okok * % % *kkok *okok *okok koK
6 *okok *okok * % % *kkok koK koK koK
7 kokok *okok * % % *kkok *okok *okok koK
8 *okok *okok * % % *kkok koK koK koK
9 *okok *okok * % % *kkok *okok *okok koK
10 KKk KKk * * % KKk KKk KoKk KoKk
11 KKk KKk * * % KoKk KoKk kK KoKk
12 KKk KKk * * % KKk KKk KoKk *okok
13 *okok *okok * % % *kkok *okok koK koK
14 KKk KKk * * % KKk KKk kK *okok
15 *okok *okok * % % *kkok koK *okok koK
16 *okok *okok * % % *kkok *okok *okok koK
17 kokok koK * % % *kkok koK *okok koK
18 *okok *okok * % % *kkok *okok *okok koK
19 koK koK * % % *kkok koK *okok koK
20 KKk KKk * * % KKk KoKk kK *okok
21 KKk KKk * * % KKk KoKk kK *okok
22 KKk KKk * * % KoKk KoKk kK *okok
23 *okok *okok * % % *kkok *okok *okok koK
24 KKk KKk * * % KoKk KoKk kK *okok
HzX 0.0 0.0 0.0 0 0.0
Hex/ 0.0 0.0 0.0 0 0.0
H¥EH Kook Kook Kook Kook
aat 0.0 0.00
BEgAaT—42 MDE * * *
H$EFEAH °C HEFEAH °C
= "‘@’,—r_‘,;’ﬂ H13.6.5 36.1 brd jB_{,;—:‘\;E H20.2.17 17.7
£EFHH hPa £EFHH hPa
i‘@‘ﬁ& H5.3.22 1024.5 bd jB_{,;—ﬁE H14.11.24 936.7
FEEHH] mm/day $EFEHAH m/s
A HME H10.11.26 212.5 4 KELE H17.9.2 55.2
AT—AIL, $63.9.25~H25.12.31 DEAREIE A RIZLTLET ,




M/REGF/MNIVR) KRBT

t#g:20F25% HEX:136E05%

R 2841021 H
FFZl um M= J& ] JEE H ERRFRE i KUt
i °Cc mm 1651 m/’s h % hPa
1 kokok *okok * % % *kkok *okok *okok koK
2 kokok koK * % % *kkok *okok koK koK
3 *okok *okok * % % *kkok *okok *okok koK
4 kokok koK * % % *kkok koK koK koK
5 *okok *okok * % % *kkok *okok *okok koK
6 *okok *okok * % % *kkok koK koK koK
7 kokok *okok * % % *kkok *okok *okok koK
8 *okok *okok * % % *kkok koK koK koK
9 *okok *okok * % % *kkok *okok *okok koK
10 KKk KKk * * % KKk KKk KoKk KoKk
11 KKk KKk * * % KoKk KoKk kK KoKk
12 KKk KKk * * % KKk KKk KoKk *okok
13 *okok *okok * % % *kkok *okok koK koK
14 KKk KKk * * % KKk KKk kK *okok
15 *okok *okok * % % *kkok koK *okok koK
16 *okok *okok * % % *kkok *okok *okok koK
17 kokok koK * % % *kkok koK *okok koK
18 *okok *okok * % % *kkok *okok *okok koK
19 koK koK * % % *kkok koK *okok koK
20 KKk KKk * * % KKk KoKk kK *okok
21 KKk KKk * * % KKk KoKk kK *okok
22 KKk KKk * * % KoKk KoKk kK *okok
23 *okok *okok * % % *kkok *okok *okok koK
24 KKk KKk * * % KoKk KoKk kK *okok
HzX 0.0 0.0 0.0 0 0.0
Hex/ 0.0 0.0 0.0 0 0.0
H¥EH Kook Kook Kook Kook
aat 0.0 0.00
BEgAaT—42 MDE * * *
H$EFEAH °C HEFEAH °C
= "‘@’,—r_‘,;’ﬂ H13.6.5 36.1 brd jB_{,;—:‘\;E H20.2.17 17.7
£EFHH hPa £EFHH hPa
i‘@‘ﬁ& H5.3.22 1024.5 bd jB_{,;—ﬁE H14.11.24 936.7
FEEHH] mm/day $EFEHAH m/s
A HME H10.11.26 212.5 4 KELE H17.9.2 55.2
AT—AIL, $63.9.25~H25.12.31 DEAREIE A RIZLTLET ,




M/REGF/MNIVR) KRBT

t#g:20F25% HEX:136E05%

28410 5 226

FFZl um M= J& ] JEE H ERRFRE i KUt
i3 °C mm 1651 m./'s h % hPa
1 kokok *okok * % % *kkok *kkok *okok koK
2 kokok koK * % % *kkok *kkok koK koK
3 *okok *okok * % % *kkok *kkok *okok koK
4 kokok koK * % % *kkok *kkk koK koK
5 *okok *okok * % % *kkok *kkok *okok koK
6 *okok *okok * % % *kkok *kkk koK koK
7 kokok *okok * % % *kkok *kkok *okok koK
8 *okok *okok * % % *kkok *kkok koK koK
9 *okok *okok * % % *kkok *kkok *okok koK
10 KKk KKk * * % KKk KKk KoKk KoKk
11 KKk KKk * * % KoKk KoKk kK KoKk
12 KKk KKk * * % KKk KKk KoKk *okok
13 *okok *okok * % % *kkok *kkok koK koK
14 KKk KKk * * % KKk KKk kK *okok
15 *okok *okok * % % *kkok *kkok *okok koK
16 *okok *okok * % % *kkok *kkok *okok koK
17 kokok koK * % % *kkok *kkok *okok koK
18 *okok *okok * % % *kkok *kkok *okok koK
19 koK koK * % % *kkok *kkok *okok koK
20 KKk KKk * * % KKk KoKk kK *okok
21 KKk KKk * * % KKk KoKk kK *okok
22 KKk KKk * * % KoKk KoKk kK *okok
23 *okok *okok * % % *kkok *kkok *okok koK
24 KKk KKk * * % KoKk KoKk kK *okok
HzX 0.0 0.0 0.0 0 0.0
Hex/ 0.0 0.0 0.0 0 0.0
H¥EH Kook Kook Kook Kook
aat 0.0 0.00
BEgAaT—42 MDE * * *
H$EFEAH °C HEFEAH °C
= "‘@’,—r_‘,;’ﬂ H13.6.5 36.1 brd j&;—ﬁjﬁi H20.2.17 17.7
£EFHH hPa £EFHH hPa
i‘@‘ﬁ& H5.3.22 1024.5 = j&;—ﬁE H14.11.24 936.7
FEEHH] mm/day $EFEHAH m/s
A HME H10.11.26 212.5 = KELE H17.9.2 55.2
AT—AIL, $63.9.25~H25.12.31 DEAREIE A RIZLTLET ,




M/REGF/MNIVR) KRBT

t#g:20F25% HEX:136E05%

28410 F 236

FFZl um M= J& ] JEE H ERRFRE i KUt
i3 °C mm 1651 m./'s h % hPa
1 kokok *okok * % % *kkok *kkok *okok koK
2 kokok koK * % % *kkok *kkok koK koK
3 *okok *okok * % % *kkok *kkok *okok koK
4 kokok koK * % % *kkok *kkk koK koK
5 *okok *okok * % % *kkok *kkok *okok koK
6 *okok *okok * % % *kkok *kkk koK koK
7 kokok *okok * % % *kkok *kkok *okok koK
8 *okok *okok * % % *kkok *kkok koK koK
9 *okok *okok * % % *kkok *kkok *okok koK
10 KKk KKk * * % KKk KKk KoKk KoKk
11 KKk KKk * * % KoKk KoKk kK KoKk
12 KKk KKk * * % KKk KKk KoKk *okok
13 *okok *okok * % % *kkok *kkok koK koK
14 KKk KKk * * % KKk KKk kK *okok
15 *okok *okok * % % *kkok *kkok *okok koK
16 *okok *okok * % % *kkok *kkok *okok koK
17 kokok koK * % % *kkok *kkok *okok koK
18 *okok *okok * % % *kkok *kkok *okok koK
19 koK koK * % % *kkok *kkok *okok koK
20 KKk KKk * * % KKk KoKk kK *okok
21 KKk KKk * * % KKk KoKk kK *okok
22 KKk KKk * * % KoKk KoKk kK *okok
23 *okok *okok * % % *kkok *kkok *okok koK
24 KKk KKk * * % KoKk KoKk kK *okok
HzX 0.0 0.0 0.0 0 0.0
Hex/ 0.0 0.0 0.0 0 0.0
H¥EH Kook Kook Kook Kook
aat 0.0 0.00
BEgAaT—42 MDE * * *
H$EFEAH °C HEFEAH °C
= "‘@’,—r_‘,;’ﬂ H13.6.5 36.1 brd j&;—ﬁjﬁi H20.2.17 17.7
£EFHH hPa £EFHH hPa
i‘@‘ﬁ& H5.3.22 1024.5 = j&;—ﬁE H14.11.24 936.7
FEEHH] mm/day $EFEHAH m/s
A HME H10.11.26 212.5 = KELE H17.9.2 55.2
AT—AIL, $63.9.25~H25.12.31 DEAREIE A RIZLTLET ,




M/REGF/MNIVR) KRBT

t#g:20F25% HEX:136E05%

S RY284E10H 24H
FFZl um M= J& ] JEE H ERRFRE i KUt
i °Cc mm 1651 m/’s h % hPa
1 kokok *okok * % % *kkok *okok *okok koK
2 kokok koK * % % *kkok *okok koK koK
3 *okok *okok * % % *kkok *okok *okok koK
4 kokok koK * % % *kkok koK koK koK
5 *okok *okok * % % *kkok *okok *okok koK
6 *okok *okok * % % *kkok koK koK koK
7 kokok *okok * % % *kkok *okok *okok koK
8 *okok *okok * % % *kkok koK koK koK
9 *okok *okok * % % *kkok *okok *okok koK
10 KKk KKk * * % KKk KKk KoKk KoKk
11 KKk KKk * * % KoKk KoKk kK KoKk
12 KKk KKk * * % KKk KKk KoKk *okok
13 *okok *okok * % % *kkok *okok koK koK
14 KKk KKk * * % KKk KKk kK *okok
15 *okok *okok * % % *kkok koK *okok koK
16 *okok *okok * % % *kkok *okok *okok koK
17 kokok koK * % % *kkok koK *okok koK
18 *okok *okok * % % *kkok *okok *okok koK
19 koK koK * % % *kkok koK *okok koK
20 KKk KKk * * % KKk KoKk kK *okok
21 KKk KKk * * % KKk KoKk kK *okok
22 KKk KKk * * % KoKk KoKk kK *okok
23 *okok *okok * % % *kkok *okok *okok koK
24 KKk KKk * * % KoKk KoKk kK *okok
HzX 0.0 0.0 0.0 0 0.0
Hex/ 0.0 0.0 0.0 0 0.0
H¥EH Kook Kook Kook Kook
aat 0.0 0.00
BEgAaT—42 MDE * * *
H$EFEAH °C HEFEAH °C
= "‘@’,—r_‘,;’ﬂ H13.6.5 36.1 brd jB_{,;—:‘\;E H20.2.17 17.7
£EFHH hPa £EFHH hPa
i‘@‘ﬁ& H5.3.22 1024.5 bd jB_{,;—ﬁE H14.11.24 936.7
FEEHH] mm/day $EFEHAH m/s
A HME H10.11.26 212.5 4 KELE H17.9.2 55.2
AT—AIL, $63.9.25~H25.12.31 DEAREIE A RIZLTLET ,




M/REGF/MNIVR) KRBT

t#g:20F25% HEX:136E05%

28410 25 H

FFZl um M= J& ] JEE H ERRFRE i KUt
i3 °C mm 1651 m./'s h % hPa
1 kokok *okok * % % *kkok *kkok *okok koK
2 kokok koK * % % *kkok *kkok koK koK
3 *okok *okok * % % *kkok *kkok *okok koK
4 kokok koK * % % *kkok *kkk koK koK
5 *okok *okok * % % *kkok *kkok *okok koK
6 *okok *okok * % % *kkok *kkk koK koK
7 kokok *okok * % % *kkok *kkok *okok koK
8 *okok *okok * % % *kkok *kkok koK koK
9 *okok *okok * % % *kkok *kkok *okok koK
10 KKk KKk * * % KKk KKk KoKk KoKk
11 KKk KKk * * % KoKk KoKk kK KoKk
12 KKk KKk * * % KKk KKk KoKk *okok
13 *okok *okok * % % *kkok *kkok koK koK
14 KKk KKk * * % KKk KKk kK *okok
15 *okok *okok * % % *kkok *kkok *okok koK
16 *okok *okok * % % *kkok *kkok *okok koK
17 kokok koK * % % *kkok *kkok *okok koK
18 *okok *okok * % % *kkok *kkok *okok koK
19 koK koK * % % *kkok *kkok *okok koK
20 KKk KKk * * % KKk KoKk kK *okok
21 KKk KKk * * % KKk KoKk kK *okok
22 KKk KKk * * % KoKk KoKk kK *okok
23 *okok *okok * % % *kkok *kkok *okok koK
24 KKk KKk * * % KoKk KoKk kK *okok
HzX 0.0 0.0 0.0 0 0.0
Hex/ 0.0 0.0 0.0 0 0.0
H¥EH Kook Kook Kook Kook
aat 0.0 0.00
BEgAaT—42 MDE * * *
H$EFEAH °C HEFEAH °C
= "‘@’,—r_‘,;’ﬂ H13.6.5 36.1 brd j&;—ﬁjﬁi H20.2.17 17.7
£EFHH hPa £EFHH hPa
i‘@‘ﬁ& H5.3.22 1024.5 = j&;—ﬁE H14.11.24 936.7
FEEHH] mm/day $EFEHAH m/s
A HME H10.11.26 212.5 = KELE H17.9.2 55.2
AT—AIL, $63.9.25~H25.12.31 DEAREIE A RIZLTLET ,




M/REGF/MNIVR) KRBT

t#g:20F25% HEX:136E05%

28410 26 H

FFZl um M= J& ] JEE H ERRFRE i KUt
i3 °C mm 1651 m./'s h % hPa
1 kokok *okok * % % *kkok *kkok *okok koK
2 kokok koK * % % *kkok *kkok koK koK
3 *okok *okok * % % *kkok *kkok *okok koK
4 kokok koK * % % *kkok *kkk koK koK
5 *okok *okok * % % *kkok *kkok *okok koK
6 *okok *okok * % % *kkok *kkk koK koK
7 kokok *okok * % % *kkok *kkok *okok koK
8 *okok *okok * % % *kkok *kkok koK koK
9 *okok *okok * % % *kkok *kkok *okok koK
10 KKk KKk * * % KKk KKk KoKk KoKk
11 KKk KKk * * % KoKk KoKk kK KoKk
12 KKk KKk * * % KKk KKk KoKk *okok
13 *okok *okok * % % *kkok *kkok koK koK
14 KKk KKk * * % KKk KKk kK *okok
15 *okok *okok * % % *kkok *kkok *okok koK
16 *okok *okok * % % *kkok *kkok *okok koK
17 kokok koK * % % *kkok *kkok *okok koK
18 *okok *okok * % % *kkok *kkok *okok koK
19 koK koK * % % *kkok *kkok *okok koK
20 KKk KKk * * % KKk KoKk kK *okok
21 KKk KKk * * % KKk KoKk kK *okok
22 KKk KKk * * % KoKk KoKk kK *okok
23 *okok *okok * % % *kkok *kkok *okok koK
24 KKk KKk * * % KoKk KoKk kK *okok
HzX 0.0 0.0 0.0 0 0.0
Hex/ 0.0 0.0 0.0 0 0.0
H¥EH Kook Kook Kook Kook
aat 0.0 0.00
BEgAaT—42 MDE * * *
H$EFEAH °C HEFEAH °C
= "‘@’,—r_‘,;’ﬂ H13.6.5 36.1 brd j&;—ﬁjﬁi H20.2.17 17.7
£EFHH hPa £EFHH hPa
i‘@‘ﬁ& H5.3.22 1024.5 = j&;—ﬁE H14.11.24 936.7
FEEHH] mm/day $EFEHAH m/s
A HME H10.11.26 212.5 = KELE H17.9.2 55.2
AT—AIL, $63.9.25~H25.12.31 DEAREIE A RIZLTLET ,




M/REGF/MNIVR) KRBT

t#g:20F25% HEX:136E05%

2841027

FFZl um M= J& ] JEE H ERRFRE i KUt
i3 °C mm 1651 m./'s h % hPa
1 kokok *okok * % % *kkok *kkok *okok koK
2 kokok koK * % % *kkok *kkok koK koK
3 *okok *okok * % % *kkok *kkok *okok koK
4 kokok koK * % % *kkok *kkk koK koK
5 *okok *okok * % % *kkok *kkok *okok koK
6 *okok *okok * % % *kkok *kkk koK koK
7 kokok *okok * % % *kkok *kkok *okok koK
8 *okok *okok * % % *kkok *kkok koK koK
9 *okok *okok * % % *kkok *kkok *okok koK
10 KKk KKk * * % KKk KKk KoKk KoKk
11 KKk KKk * * % KoKk KoKk kK KoKk
12 KKk KKk * * % KKk KKk KoKk *okok
13 *okok *okok * % % *kkok *kkok koK koK
14 KKk KKk * * % KKk KKk kK *okok
15 *okok *okok * % % *kkok *kkok *okok koK
16 *okok *okok * % % *kkok *kkok *okok koK
17 kokok koK * % % *kkok *kkok *okok koK
18 *okok *okok * % % *kkok *kkok *okok koK
19 koK koK * % % *kkok *kkok *okok koK
20 KKk KKk * * % KKk KoKk kK *okok
21 KKk KKk * * % KKk KoKk kK *okok
22 KKk KKk * * % KoKk KoKk kK *okok
23 *okok *okok * % % *kkok *kkok *okok koK
24 KKk KKk * * % KoKk KoKk kK *okok
HzX 0.0 0.0 0.0 0 0.0
Hex/ 0.0 0.0 0.0 0 0.0
H¥EH Kook Kook Kook Kook
aat 0.0 0.00
BEgAaT—42 MDE * * *
H$EFEAH °C HEFEAH °C
= "‘@’,—r_‘,;’ﬂ H13.6.5 36.1 brd j&;—ﬁjﬁi H20.2.17 17.7
£EFHH hPa £EFHH hPa
i‘@‘ﬁ& H5.3.22 1024.5 = j&;—ﬁE H14.11.24 936.7
FEEHH] mm/day $EFEHAH m/s
A HME H10.11.26 212.5 = KELE H17.9.2 55.2
AT—AIL, $63.9.25~H25.12.31 DEAREIE A RIZLTLET ,




M/REGF/MNIVR) KRBT

t#g:20F25% HEX:136E05%

28410 F 28 6

FFZl um M= J& ] JEE H ERRFRE i KUt
i3 °C mm 1651 m./'s h % hPa
1 kokok *okok * % % *kkok *kkok *okok koK
2 kokok koK * % % *kkok *kkok koK koK
3 *okok *okok * % % *kkok *kkok *okok koK
4 kokok koK * % % *kkok *kkk koK koK
5 *okok *okok * % % *kkok *kkok *okok koK
6 *okok *okok * % % *kkok *kkk koK koK
7 kokok *okok * % % *kkok *kkok *okok koK
8 *okok *okok * % % *kkok *kkok koK koK
9 *okok *okok * % % *kkok *kkok *okok koK
10 KKk KKk * * % KKk KKk KoKk KoKk
11 KKk KKk * * % KoKk KoKk kK KoKk
12 KKk KKk * * % KKk KKk KoKk *okok
13 *okok *okok * % % *kkok *kkok koK koK
14 KKk KKk * * % KKk KKk kK *okok
15 *okok *okok * % % *kkok *kkok *okok koK
16 *okok *okok * % % *kkok *kkok *okok koK
17 kokok koK * % % *kkok *kkok *okok koK
18 *okok *okok * % % *kkok *kkok *okok koK
19 koK koK * % % *kkok *kkok *okok koK
20 KKk KKk * * % KKk KoKk kK *okok
21 KKk KKk * * % KKk KoKk kK *okok
22 KKk KKk * * % KoKk KoKk kK *okok
23 *okok *okok * % % *kkok *kkok *okok koK
24 KKk KKk * * % KoKk KoKk kK *okok
HzX 0.0 0.0 0.0 0 0.0
Hex/ 0.0 0.0 0.0 0 0.0
H¥EH Kook Kook Kook Kook
aat 0.0 0.00
BEgAaT—42 MDE * * *
H$EFEAH °C HEFEAH °C
= "‘@’,—r_‘,;’ﬂ H13.6.5 36.1 brd j&;—ﬁjﬁi H20.2.17 17.7
£EFHH hPa £EFHH hPa
i‘@‘ﬁ& H5.3.22 1024.5 = j&;—ﬁE H14.11.24 936.7
FEEHH] mm/day $EFEHAH m/s
A HME H10.11.26 212.5 = KELE H17.9.2 55.2
AT—AIL, $63.9.25~H25.12.31 DEAREIE A RIZLTLET ,




M/REGF/MNIVR) KRBT

t#g:20F25% HEX:136E05%

28410 H 296

FFZl um M= J& ] JEE H ERRFRE i KUt
i3 °C mm 1651 m./'s h % hPa
1 kokok *okok * % % *kkok *kkok *okok koK
2 kokok koK * % % *kkok *kkok koK koK
3 *okok *okok * % % *kkok *kkok *okok koK
4 kokok koK * % % *kkok *kkk koK koK
5 *okok *okok * % % *kkok *kkok *okok koK
6 *okok *okok * % % *kkok *kkk koK koK
7 kokok *okok * % % *kkok *kkok *okok koK
8 *okok *okok * % % *kkok *kkok koK koK
9 *okok *okok * % % *kkok *kkok *okok koK
10 KKk KKk * * % KKk KKk KoKk KoKk
11 KKk KKk * * % KoKk KoKk kK KoKk
12 KKk KKk * * % KKk KKk KoKk *okok
13 *okok *okok * % % *kkok *kkok koK koK
14 KKk KKk * * % KKk KKk kK *okok
15 *okok *okok * % % *kkok *kkok *okok koK
16 *okok *okok * % % *kkok *kkok *okok koK
17 kokok koK * % % *kkok *kkok *okok koK
18 *okok *okok * % % *kkok *kkok *okok koK
19 koK koK * % % *kkok *kkok *okok koK
20 KKk KKk * * % KKk KoKk kK *okok
21 KKk KKk * * % KKk KoKk kK *okok
22 KKk KKk * * % KoKk KoKk kK *okok
23 *okok *okok * % % *kkok *kkok *okok koK
24 KKk KKk * * % KoKk KoKk kK *okok
HzX 0.0 0.0 0.0 0 0.0
Hex/ 0.0 0.0 0.0 0 0.0
H¥EH Kook Kook Kook Kook
aat 0.0 0.00
BEgAaT—42 MDE * * *
H$EFEAH °C HEFEAH °C
= "‘@’,—r_‘,;’ﬂ H13.6.5 36.1 brd j&;—ﬁjﬁi H20.2.17 17.7
£EFHH hPa £EFHH hPa
i‘@‘ﬁ& H5.3.22 1024.5 = j&;—ﬁE H14.11.24 936.7
FEEHH] mm/day $EFEHAH m/s
A HME H10.11.26 212.5 = KELE H17.9.2 55.2
AT—AIL, $63.9.25~H25.12.31 DEAREIE A RIZLTLET ,




M/REGF/MNIVR) KRBT

t#g:20F25% HEX:136E05%

S RE284E10H30H
FFZl um M= J& ] JEE H ERRFRE i KUt
i °Cc mm 1651 m/’s h % hPa
1 kokok *okok * % % *kkok *kkok *okok koK
2 kokok koK * % % *kkok *kkok koK koK
3 *okok *okok * % % *kkok *kkok *okok koK
4 kokok koK * % % *kkok *kkk koK koK
5 *okok *okok * % % *kkok *kkok *okok koK
6 *okok *okok * % % *kkok *kkk koK koK
7 kokok *okok * % % *kkok *kkok *okok koK
8 *okok *okok * % % *kkok *kkok koK koK
9 *okok *okok * % % *kkok *kkok *okok koK
10 KKk KKk * * % KKk KKk KoKk KoKk
11 KKk KKk * * % KoKk KoKk kK KoKk
12 KKk KKk * * % KKk KKk KoKk *okok
13 *okok *okok * % % *kkok *kkok koK koK
14 KKk KKk * * % KKk KKk kK *okok
15 *okok *okok * % % *kkok *kkok *okok koK
16 *okok *okok * % % *kkok *kkok *okok koK
17 kokok koK * % % *kkok *kkok *okok koK
18 *okok *okok * % % *kkok *kkok *okok koK
19 koK koK * % % *kkok *kkok *okok koK
20 KKk KKk * * % KKk KoKk kK *okok
21 KKk KKk * * % KKk KoKk kK *okok
22 KKk KKk * * % KoKk KoKk kK *okok
23 *okok *okok * % % *kkok *kkok *okok koK
24 KKk KKk * * % KoKk KoKk kK *okok
HzX 0.0 0.0 0.0 0 0.0
Hex/ 0.0 0.0 0.0 0 0.0
B3E *okok *okok *okok #DIV/0!
aat 0.0 0.00
BEgAaT—42 MDE * * *
H$EFEAH °C HEFEAH °C
= "‘@’,—r_‘,;’ﬂ H13.6.5 36.1 brd jB_{,;—:‘\;E H20.2.17 17.7
£EFHH hPa £EFHH hPa
i‘?‘,ﬁj"ﬁ& H5.3.22 1024.5 = jB_{,;—ﬁE H14.11.24 936.7
FEEHH] mm/day $EFEHAH m/s
A HME H10.11.26 212.5 = KELE H17.9.2 55.2
AT—AIL, $63.9.25~H25.12.31 DEAREIE A RIZLTLET ,




M/REGF/MNIVR) KRBT

t#g:20F25% HEX:136E05%

R 284E10A31H
FFZl um M= J& ] JEE H ERRFRE i KUt
i °Cc mm 1651 m/’s h % hPa
1 kokok *okok * % % *kkok *okok *okok koK
2 kokok koK * % % *kkok *okok koK koK
3 *okok *okok * % % *kkok *okok *okok koK
4 kokok koK * % % *kkok koK koK koK
5 *okok *okok * % % *kkok *okok *okok koK
6 *okok *okok * % % *kkok koK koK koK
7 kokok *okok * % % *kkok *okok *okok koK
8 *okok *okok * % % *kkok koK koK koK
9 *okok *okok * % % *kkok *okok *okok koK
10 KKk KKk * * % KKk KKk KoKk KoKk
11 KKk KKk * * % KoKk KoKk kK KoKk
12 KKk KKk * * % KKk KKk KoKk *okok
13 *okok *okok * % % *kkok *okok koK koK
14 KKk KKk * * % KKk KKk kK *okok
15 *okok *okok * % % *kkok koK *okok koK
16 *okok *okok * % % *kkok *okok *okok koK
17 kokok koK * % % *kkok koK *okok koK
18 *okok *okok * % % *kkok *okok *okok koK
19 koK koK * % % *kkok koK *okok koK
20 KKk KKk * * % KKk KoKk kK *okok
21 KKk KKk * * % KKk KoKk kK *okok
22 KKk KKk * * % KoKk KoKk kK *okok
23 *okok *okok * % % *kkok *okok *okok koK
24 KKk KKk * * % KoKk KoKk kK *okok
HzX 0.0 0.0 0.0 0 0.0
Hex/ 0.0 0.0 0.0 0 0.0
H¥EH Kook Kook Kook Kook
aat 0.0 0.00
BEgAaT—42 MDE * * *
H$EFEAH °C HEFEAH °C
= "‘@’,—r_‘,;’ﬂ H13.6.5 36.1 brd jB_{,;—:‘\;E H20.2.17 17.7
£EFHH hPa £EFHH hPa
i‘@‘ﬁ& H5.3.22 1024.5 bd jB_{,;—ﬁE H14.11.24 936.7
FEEHH] mm/day $EFEHAH m/s
A HME H10.11.26 212.5 4 KELE H17.9.2 55.2
AT—AIL, $63.9.25~H25.12.31 DEAREIE A RIZLTLET ,




